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Two resistors are connected
to a battery as shown in the
figure. The current through
the ammeter A:is 0.45 A.
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stential difference across the battery.
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La
- 2000 The figure shows three light
[ bulbs connected in an electric

circuit.
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a. Find the equivalent resistance in the circuit. ]
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Answer the following: W, OF

function.

I Match each of the following de
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O5Ss Laia 5 ol JA 30 5eS0 il 5 50 piadd il
Alaiall 536 41 Ay angy Al 8 (A0 5eS) )
Bl
Gets damaged to stop too large currents from
pas‘ng through the electric circuit and protect
l_ﬂ_‘ < devices connected to the circuit.
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Detects sr.all current differences between the
two wirr s in the cord connected to an
applia ice.
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J1 ns the circuit when the current exceeds a

threshold value.
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II. The figure shows two magnets X and Y, and the magnetic
field lines around them.
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a. What is the type of the magnetic force between the two
magnetic poles | and 37
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b. Mﬁot)peofme magnetic poles of each of the two
‘magn _,demitmthefollowmg table.
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to show the direction of the




